7 =
[¥% A ]
0 — A e G60m (Tos7m

N 2 = - 760m 621w
N /L g - 730m 789w
BfHgEhIlE - 760mB621m
& N D e 580m 627m
NnAa/J = - 660mB 713w
UESBRT—F 860m v29m
L7 2 = e 620 m e70m

i 5% PZERE 380mwiim
= S 580m 627m
'7— v 9: v 7 “““ 440mP wrem
miIL €' 2 440m @wrem
me2eqd 380mw@iim
(S22 A W 440m@ w7em
/\ Woo 340m 3esm
t 2 qT4q - 340m 3ssm
0 I e [ AR 280m @ozm
= ;B o 320m uemw

DAl 2 gp = we 280 m osm
/T\D:ﬁ\j_t;_:/ ...... 260m (281w

[ E¥A ]
D aws G8OM (osom
l/ """ 1,180m (1.275m
n — X 1,880m (1.491m)
77 IL E 1,380m (1491w
S / ...... 980@(1‘059%)
WIBRAT—% 1,480 m (1599m
FEO— R ovwl,780mB 0520
BFE)ILE ov91,780m 05230

Auinvl auP gl ny

'Y o G80m (fosom
S N (7R 1,180m (1275w
BOEBRAT—F 860m v29m)
B /N Yo 3408 zssm
BTYFRO e 440m wrem
BRILED 440 wrem
B LI = 440m wrem
B = /o 580m 627
w2V e 280m @osm

[ % E RN ]

GBRCAICIEYL)
BER Y 2 400m aom

BIBRTVFOY 460 w7
BERILEY - 4608 worm
HBIER £ 2 o 400 wszm
BES /o 600 M ©usm
gy 300 s2um

[B% M ]on

FRIDERE

HZ L% 3 B 420/ wsum
H% /\ —_7 """ 380D @i
N2 ~DO o 380mwiim

/

[ B8R ] w

BB 2 U o»480ncim
n Y T 3D 270m 2e2m
’l’ 77 """ 320 B zusm

7@ ﬁ\$ % U """ 600 B usm)

(BRRU2, YT 2. 1 )¢Am)

[ 4835 )

B B O® - 420m Gisam
(FRE -7, -7, F0\Y)

FREE-I7.0-Y @R 210/ 227w
[ 359 ]

e NW o 120m (30m)

D D A K omw380Bwiim

’7U_7ﬂ'——7§7 """ 360 mzsm

t H:E .H. ——7 IQ ...... 4208 wusam
'\Ql\ﬂsly ...... 4208 wsam)

EREBOIY
2090 €AY

xoLoaomreEoTsuEs, 2 250m

>

hil 4G

' 3 i |
[ —@mitdE ]

X O F @am 260m 8T
1D T X xm260mesin
A4 X OF &m 2608 281w
XOFRBEY - 430m wesw
+OILEY 340m @ssm
gt v 260m =sim
FTx o 2608 csim
BE QLU - 110m 19w

[BRE]

= (& T oo 640m €928
2 Al ALy o 280m osm
24 R(H) - 250m @7om
24 RCN) 200m iem

)| o 8001 sesm
4<—"§' -
=S 3 ', _-’
s 7
T e
&.' '..x_'{" ”
s Vit E



